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第３回 OSC (Online Solving Contest) 

セクションA 正解


１ Norman A. Macleod (Mat 1988 1st Pr)

1.Nf7/Nc8/Ne8/Nf5/Ne4/Ndc4/Nb5?

1...N4~/N4g6/Nh5/cxd4/Kxd4/Ng2/Ne2!

1.Ndb7! (2.Qe5#) [5]

1...N4~/Rd6/Ne7/N8g6/cxd4/Kxd4

2.Qxc6/Qxd6/Qd6/Qxd8/Rg5/Rd1#


2 Camillo Gamnitzer (Schach Aktiv 1983 1st Pr)

1.Bd7! (2.Ne6+ Kf3/Kf5 3.Bxc6/Qe4#) [*]

1...Nf2 2.Qe3+ Kxe3 3.Bg5# [*]

1...Nf6 2.Qe5+ Kxe5 3.Bd6# [*]

1...Ne3 2.Qf2+ Bf3 3.Qh2# [*]

1...Ne5 2.Bh4 Nxd3 3.Nxd3# [*]

1...Nh2 2.Qe4+ Kg3 3.Bh4# [*]

1...Nxh6 2.Bd6+ Kg5 3.Qe7# [*]

[*] =0.7  [*] x7=5.0


3 Gerard Johan Bouma (Probleemblad 2005)

1.Rb4! c4 2.Rb1! cxb1=Q+ 3.Bxb1 c2 4.Ba2 c3 5.Bf7# [5]


4 Vladimir Bron (Trud 1950)

1.b7! [1] Ne7+ 2.Kf8 [1] Rb6 3.b8=Q! [1] Rxb8+ 4.Be8+ [1] Kf6 [1] 
stalemate

3.Be8+? Kf6 4.b8=Q Ng6+! 5.Bxg6 Rxb8+ 


5 Valerij Kopyl (Pat a Mat 2013)

1.b4 e7 2.Kb5 e8=Q+ 3.Ka6 Qa4# [1.25]

1.f3 e7 2.Rxc4 e8=R 3.Rc5 Re6# [1.25]

1.d4 e7 2.Kd5 e8=B 3.Ke4 Bc6# [1.25]

1.Bf7 exf7 2.Rg8 fxg8=N 3.Nc5 Ne7# [1.25]


6 Petko A. Petkov (Latvian Solving Championship 2021)

1.Qd5! (2.Qf7+ Qf6 3.Qg6+ Qxg6#) [1.25]

1...cxd5 2.Rf7+ Qf6 3.d4 Qxf7# [1.25]

1...Qxd5 2.Ng7+ Kf6+ 3.Bg5+ Qxg5# [1.25]

1...exd3 2.Qf3+ Qf4 3.Qg4+ Qxg4# [1.25]



